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(green arrows). Once all base
classifiers have been trained,
they are combined to give

the final classifier Y (x) (red

arrows).
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AdaBoost
1. Initialize the data weighting coefficients {w, } by setting wid) =1 /N for

n=1...,N.

(a) Fit a classifier y,,,(x) to the training data by minimizing the weighted
error function

N
Jm = > W L (Y (%) # tn) (14.15)
n=1

where [(y,,(x,) # ty) is the indicator function and equals 1 when
Ym (Xn) # tn and 0 otherwise.

(b) Evaluate the quantities

N
> Wl (Y (Xn) # )
em = B —— (14.16)
S
n=1

and then use these to evaluate

amzm{l_em}. (14.17)
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(c) Update the data weighting coefficients

w&erl) = wgm) exp {aml(ym (X-n) 75 tn>} (14'18)
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